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2. 4y 20y -x-y= RSl HEY

O (x-y)(x+y+1) @ (x+y)(x-y-1)
® (x-y)(x-y-1) @ (x+y)(x+y-1)

® (x+y)(x+y+1)

¥ +yr+2xy—x—y
=(x+y)?-(x+y) =(x+y)(x+y-1)
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x = 21°]2} s}
V21-22-23-24 +1

= Vx(x+1)(x+2)(x+3)+1
= Vx(x+3)x+1)(x+2)+1
= /(2 +3x)(x2+3x+2)+1

= /(32 +3x)2+2(x2+3x)+1

= /{(x®> +3x) + 1}2
=x2+3x+1(- (x> +3x)+1>0)
=212+3-21+1=505
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4.  16x* - 625y* 2 27 AFEHF A2

@ (x+ 5y)(2x — 5y)(4x? + 25y?)
@ (2x+y)(2x - 5y)(4x% + 25)?)
@) (24 + 5y) (2x - 5y) (422 + 2552)
@ (x+ 5y)(x - 5y)(4x? + 25y?)

@ (2x + 5y)(x — y)(4x? + 25y?)

(@) = (1) - (3522
= (4x% + 25y?)(4x% - 25y?)
= (2x + 5y)(2x — 5y) (4x? + 25y?)
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© x*+y* = (x+y)*-2xy
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@ x?-x-2=(x-2)(x+1)

@ (x-y)?=x"-3x%y+3x°-)°
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a?—b? =19 0, {(a+b) +
WL (B, ne 2

@ 2 @ 2(a+b)"
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@ 4(a+b)"
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{(a +
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@ ~(x=y)+2)(z-x) @ —(x-y)(y-2)(z+x)
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Z )= xy(x - y)—I—zx(z x) +yz(y — 2)
yx% = y2x + 22x — 2x® + yz(y - 2)
-2 -0 -2)x+yz2y - 2)
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B4 x-6=(x-1D(x+2)(x+3)
La+b+c=4
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10. a+b+c=0¢Y t%a(——i—;)—&—b

b
Fohe?

a+b+c=00°%H a4+ b3+ ¢ = 3abcO|Tt.
a(b+c b(a+c cla+b
(bc ) (ac ), (ab)
a? (—a) + b% (=b) + 2 (-c)

abc
—(a3+b3+c3)

abc

~ —3abc

@) =

abc

B
a(G+2)+olea)+e(G+)

a c¢ b a b

_(E+Z)+(E+E)+(E+ )
b b

:a—I—c_I_ +a+ +c

b c a

ISHI Y

:_+_+7"(-.- a+b+c=0)




11. a, b, c7bAZFE S A o] ol S vehd of
o]

@ B=120° =44E @ HAHAY
® B=150°A =444 @)olsHdad

a’b - a*c + b%c - b?a + c*a - c?b
=a?(b-c) +a(c+b)(c—b)+bc(b-c)
= (b-c){a®+ (c+b)a+bc}

= (b-c)(a+b)(a+c)
wb=c(ra+b#0, a+c#0)




12, x4+ 4y* = (2% - 20y + 20%) (2 + 2xy + 2y%) = ]85 thg 49

(11% + 324)(23* + 324)(35% 4 324)(47* + 324)
(54 + 324) (174 + 324)(29% + 324)(414 + 324)

@ 192 @193 ® 194 @ 195 ® 196

B

x4yt = (6 = 2xy + 2y%) (2% + 2xy + 2y?)

={(x=y)2+y H(x+y)? +y} ol

324 =4x3%0|B2&2

117 +324 = (112 -2Xx 11x342x3%)(11%2 +2Xx 11 X 3+ 2% 3%)
= {(11 - 3)% 4 32}{(11 + 3)% + 32}

= (82 +32)(142 + 3?%)

mebA 22 B Ao HH Fo]7] A2

{(8% + 3%)(142 + 32)}{(202 + 32)(262 + 32)}

{(22 + 32)(82 + 32)}{(142 + 32)(202 + 32)}

{(322 + 32)(382 + 32)}{(442 + 32)(502 + 32)}

{(262 + 32)(322 + 32)}{(382 + 32)(442 + 32))

502 +3%2 2509

T 92132~ 13

=193




13.

a-b=2-V3b—c=2+V3A N Fa, b, col H3td a®(b-c) +
b*(c—a) + c?(a-b) o] G127

O+O& AR a-c=4
a*(b-c)+b*(c—a)+c*(a-b)
=a%(b-c) + b%c - b*a+ c?a—c*b
=a?(b-c) - a(b® - c?) + b*c - c*b
=da?(b-c)-alb+c)(b-c)+bc(b-c)

= (b-c){a®* —a(b+c) + bc)

= (b-c)la=b)(a=c)

=2+ V3)(2-V3)-4=4
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14. a+b+c=09 W, 2 F242 +bc} 22 A

@ (a-¢)? @ (b+c)? @ (a+b)(b+c)
@a-ba-c) © (a-b)a+o)

B

2a® 4+ bc =2a* —b(a+b) (v c=-a—-b)
= 2a* — ab - b?

= (a—b)(2a+b)

=(a-b)(a+b+a)

=(a-b)(a-c) (ma+b=—c)




15. 5 ohahA] 3xt—2x% —9x2 +4, 3x3-3x2—6x 9] H|UFFLE FL5HH?

O (x-1)(x-2) @ @+)x+2) @u+1)x-2)
@ (x-1)(x-2) ® (x+1)(x-1)

B

31t 243 -9x2 4+ 4
=x+1)(x-2)(x+1)(Bx-2)
3x3-3x2—-6x=3x(x-2)(x +1)
LAY (x-2) (x+ 1)




16. = o34 f(x) = x° — ax + b, g(x) = x% + ax — 2b ©] @57}
x=19 o, f(x),8(x) o HaFuisE F-5HA?

O -2+ )+ @G-+ )+ 2)
® (-DE+12(x+2) @ (= (x+4x+2)

® (x-1)(x+4)(x+2)?

~&B

Q1= ol o)

f)y=1-a+b=0
g)=14+a-2b=0
AYSIH g =3,b=2

flx) =2 —3x+2
ZHAIHE o]-85tH,




17.

FHIANA =2+ % +ax-2,B = x> —x* —ax+ 49 HdFF57}
A D o, A a O] FH2?

@ 2 @ 1 ® 0 @-1 )2

HHFFTE x - a2 SHAL

U214 2o o8fl o +a? +aa-2=0
P -a?-aa+4=0

= 42 ol 20% = -2, a= -1

OIA @ = -1 & HHA] AA]o] tiQlstH
-1+ (-1)2-a-2=0 ..a=-2




o|2kgre] A47} 191 T o] 2tkaHAl A, BO] g4t x + 20] 1

HAZET 23 + 12 —4x—40]th A+ B = ax® + bx+ ¢ & W=ESH=
A4 a+ b+ c 9 3 oot

» E:

> =g 3

B+ —dx-4=(x+2)(x+1)(x-2)
FOFAS AT (x4 2)(x+ 1), (x+2)(x - 2)
A+B=(x+2)(x-2)+ (x+2) (x+1)
=2x24+3x-2=ax2+bx+c
La=2,b=3,c=-2

“a+b+c=3




19.
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U ZoFT) x+10]7,
7:""1‘7]' 1?_]_ = E]-OP@'_Q] @-_% ;F'O]'Eﬂ()

D)2x* 4 3x + 1 @ 2 +3x+1

@ x3+3x-2 G 2-x+1

A2 F U7 227 - x -2 W, 0] Ao

@ 2x? +3x+2

B2t -x-2=(x+1)(x-1)(x+2)
—,—E]'OV‘]O(x—i—l) (x=1),(x+1) (x+2)°]T}.




20.

oI ] A% 191 5 EFGAI 9] HTfBOFT) x4 201, 24T
57} 4 - 2xd W, ol €] g

@ 2x24+3x+2 @ 2x2-3x-2 ® x2-3x-2
@2x2+3x—2 ® x*-3x+2

A =Ga,B=Gb (a,b= HN=2L)

G=x+2

L=x*+x>+2x =x(x+2)(x-1) = Gab

A=x(x+2)=x*+2x
=(x+2)(x-1)=x*+x-2
A+B=2x*+3x-2
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@ x®+4x+8 ® x¥*+4x-5

8

HAgFr7t x - 20122
Fohe T O3 a(x - 2), b(x-2) (T, a, bE AR &9
o) 2 52 4 9l

98], F oA o] Fol x3 — a2 - 8x+ 12 0|B 2
a(x—2)b(x-2) = x> —x*> = 8x + 12

wab(x—2)? = (x - 2)%(x + 3)
ab=x+3
ca=1,b=x+3E=a=x+3,b=1

mrehA] F O A2 x -2, (x—2)(x + 3) oJth
Lx—-24x2+x-6=x>2+2x-8




22. Aol Algrt 19 F oA f(x), g(x) o Fol x¥ 4+ x% —5x+3
o], HAFHFTE x% 4 2x - 3L W, £(2) + g(2) & F= F5HH?

@ 3 @ 4 ®5 @)6 ®7




23. 1A A7 19 F ol HRF47} x 4 30] 1 H4F

Hip7h X3 + 1% — 6x A o, F o] 2FA 9] 27
O (x+1)(x-2) @ (x+2)(x+4)
@)2(x-1)(x+3) @ 2x—2)(x—4)

® 2(x+1)(x-4)

B
Ao gors7) x + 30|22 T oIRAL
a(x+3),b(x+3) (a, b = ARA)E 5t
HAaFHSTE f(x) =3 + x* - 6x 2} 59
f(x) =x(x>4+x-6) = x(x+3)(x-2)
ufeb & capae

x(x+3), (x=2)(x+3) o|B=&

Tote F g g2
x(x+3)+ (x-2)(x+3) =(x+3)(2x-2)
2(x—1)(x+ 3)
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i 2] Hajol] o) x = a B AASFE o + pat g =0, o+

ga+ p =0 °|t},
FAS MY, (p-q)a-(p-q) =0, (p-g)la-1) =0 p=¢
FEa=

a=1
g Ol HNFFE7t 22 + px + g 7F FBR, 2719 97
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UetU7]1 2 & o, (A2 « B2)% (A2« AB) &} -2 A

@46 @ A ® AL

~&B

A =Ga, B=Gb(a,b= NE2L)E O
(A% x B%)% (A? * AB)

= (G?a® * G*b*) % (G*a® + G*ab)

= G*%*G?a

=G%a
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